3apnada B. lenex sa6nok - 1

N LWKOJIbHUKOB AenAaT K 16,10k NOpOBHY, HeAeNnArnWnnca octaTok
OCTaeTCs B KOpP3UHKe.
CKObKO s16/10K AOCTaHETCHA KaXXAO0MYy LUKONIbHUKY?

BxoaHble AaHHble
[IporpamMma nosy4dyaeT Ha BX0OA 4ncna n u kK - uenble, NoNoXuTesibHble,
He npesBbiwatoT 10000.

students=int (input ())

BbixoAHble faHHbIE apples=int (input())

BblBeﬂ,VlTe OTBET Ha 3a4auy. print ("students=", students, "apples=", apples)
share=apples//students
print ("share=", share)
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students=int (input ())
apples=int (input ())
BbIXOAHbIE AaHHbIE print ("students=", students, "apples=", apples)
4 remalinder=apples%students
share= (apples-remainder) //students

print ("share=", share)



